Clipping Stand
Assembly Instructions

Step 1: Lay the clipping stand upside down on its back with the
leg support arms facing up. Place the leg support piece in the
grooves of the leg support arms with the two tabs welded on the
cross bar facing up.

Step 2: Insert a 3/8” x 2 ¥2” bolt through the leg support piece
and the tabs welded to the clipping stand frame. Use 3/8”
washers on the nut side. Follow this step for both the front and
back leg supports.

Step 3: Insert the square 18 long 34” sq leg brace support tubing
into the tabs welded on the crossbar of the leg support piece. Use
a 3/8” x 2” bolt to attach. Use a 3/8” washer on the nut side.
Follow this step for both the front and back leg supports.

Step 4: Insert the 3/8” x 3” (larger) lynch pin through the tabs
and the 34 square leg brace support tubing. Follow this step for
both the front and back leg supports.

Step S: Insert the four adjustable legs into the leg support arms
using the 3/8” x 2” (smaller) lynch pin to attach at the desired
height.

Step 6: With the clipping stand still up side down, screw two
black knob bolts into the square tube welded on the front bottom
side of the main deck. These will adjust the head piece front to
back on the main deck.

Show Stopper Equipment
by Vittetoe, Inc.
Keota, lowa 800-848-8386 www.vittetoe.com



Step 7: Turn the clipping stand over so the legs are on the floor
and the stand is sitting upright.

Take the “L” square tube headpiece mounting bracket and screw
two black knob bolts into it. These two knobs will adjust the
height of the headpiece.

Step 8: Facing the front of the stand, insert the “L” headpiece
mounting bracket into the square tube welded to the main deck.
Tighten black knobs under main deck to desired location.

Insert headpiece into top of “L” headpiece mounting bracket.
Tighten 2 black knobs on front of bracket to desired height of
headpiece.

Step 9: Insert side rails in holes on sides of clipping stand.

Step 10: To tear down, remove the side rails and head piece.
Turn the clipping stand on its side and remove the two 3/8” x 3”
lynch pin. Push the leg support brackets against the clipping
stand. Push the 34” square tube leg support braces into the tabs
and use the 3/8” x 3 lynch pins to lock into place.




